o

HIZ0] QFLY

o= T2HIE
XS Ic HIE E|XHI1E
BSD-2000 BSD 500,000
ALBA-4000D alba 500,000
23 Mo|ot HZ272 300,000
AEHAZAL (HRV) FY894 50,000
ZZAZA JKS 100,000
XEHUBAOIS UM FY894 50,000
QIZ2QIA-Bet FRLISAIZRZA | D6630A 30,000
QUZRUX} A-B HIOIZAZAAL | CZ394 30,000
T2LH9 MEEAAA D6620-1 10,000
48™ x3n} USDOPLER 40,000
2o x2n USABD 50,000
s X3t USNECK 40,000
HIEFRIDZA} D490202A 10,000
NKM|ZEM = HAL D7631A 70,000
[=ES V)= MNT5 50,000
HIEESN 285 U329y MZ012 70,000
AMEHERALK| 2 MZ007 50,000

Az, S200] wEt




2, X|=xi=Cy

= Z=HIE 5 (T - 3)
= 2%y ac | 2= | ug axeg | mawg et D SO

XrE+H set 6,000

|2 X| 2o 25,000

LXIX|EO| 25,000

=R 10,000 m=
=R (1) 18,000 g5
EHEA THZ0| 30,000

02 mask 5,000

|7 50,000

#+I{ 20t 5*7 300

#+IHZ20} 6*9 500

AT D0 9%20 1,000

Of|H{ 0| EE M E 10cm™*10M 12,000

&St 4° 1,000

arm=g 30,000

Ankle Brace 20,000

XEH2] QHHFELY (AMX)) bandagel 1set 100,000

ety S (SHX]) bandage2 1set 150,000

SEO|CHO] (AFQ)) A21 1 15,000

SEOICHO{ (BF2)) A22 1 15,000




3. OFA|H| S FAH|

s HEHg S (29 : )
= oy ac Er ol ARHIS soug | et o S S
mpros | mptoj
XfCHAl 662800041 350,000
]ERU 683101401 60,000
MO|H[0]Z 653103361 300,000
olBYmeE 681100411 200,000
NEETES 674800041 350,000
665100090~
OIL-HH|AZ M e 100110 50,000
OIL-HIH|AZ F 223888758 B 60,000
053100040~
O|ATIE M o500 60,000
=y |M=Q 053100030 70,000
CETS 670604350 10,000 10t
XMEHK| 2 681100200 | 1200mg 80,000
TMA|S EA 681100121 30,000
XM A2 681100291 50,000
== Mepal 681100221 20,000
S| ATAE 681100261 30,000
atojuz= 681100020 2ml 30,000
XMOF2 7| LIz 681100371 30,000
MR RS 681100311 30,000
ompIE 650901951 40,000




C| = E|tHI 650900121 40,000

X|MHE|55 681100281 50,000

X|MHE|12= 681100270 50,000

X|MZE3 681100160 50,000

X|MJH| 2= 681100250 2,000

O| B MU= 676600020 124 5,500,000

g;‘fjﬂf‘gﬁgg' 643605131 30,000 olm=oux; Al

Za|H|LM3E 648902271 13 100,000 HEFD WA

AMaglAazx 650003220 1set 250,000 CHetZ=Zl i

zfll;rEl Clef M ZE|EEA| 643605311 30,000 iréf_l C| = 2]

A7t0|dt2| M2t 056400051 35*0" tol2{ At
29, 9d40|st

Qoo | 3= 655500271 S TI=ed
HO[2{ A A

DH|Z2Tx 645104631 1,000

H|7HH[EFALAZ 681100060 1,000

X|M|H|E}0|Z= 681100351 5,000

XMSRIMNLEST 681100210 5,000

BRAYMEILIEESTA | 670607612 3ml 2,500

MY|LIHE|Z2 AL 674800021 10ml 50,000

X|MH|E}C|F= 30,000

OFO|OJ AZHE|| Y 110/250ml 50,000 60,000 20| 2t Aol

OEHMa| B H|2| = 360/560ml 60,000 80,000 0| a2t Ao




XMoo =S A 50,000
ofCpHI= 50,000
HH| S ST 642100710 300 20{7|Z 2| H|Z0
ZYyoldz 100,000 k=1 PN L=y
| A[Opof| = mesima Z/BOX 15,000 450,000
== 659900010 1T 700
SE|ZZEISErH 670402151 Z/BOX 2,400 72,000
ERLRIH 644501130 500
AL sele 1BOX 100,000
=7t poly 100T 330,000
HIEHY pts 1BOX 40,000
ggﬁgzgﬁ odf 1BOX 60,000
e | ojAnd Aspm ismigen 1BOX 210,000
|| 0| ESIEFH 052400511 1% 3,000
EJANANEH 652001030 1T 300
IAE=EHAH 652101720 1T 300
S AL 642900800 1T 150
Ef|AES 647802340 1T 500
oy A 645600930 1T 200
TE2XA 645001460 1T 80,000
M7 ELMErS 646802660 1T 1,500
2oIEA s 659900050 1T 700
Qg HIEIT! 2l AIZZ|O| 678000360 174 10,000




C|Z2rAzzo| 685900081 71 20,000
ELEH| 20| 1| g2t0| 645701191 A 8,000
atojAl S1A 051600231 171 20,000
HE|HA Q17 643601721 171 4,000
H|mE oin 641100100 171 10,000
_|otmumz 670304000 | 1 Tube 1,000
= S|l 659901331 174 20,000
T=Xt 0] 5= (10kmO|LK) 13 30,000
Tak OISR 12| 1,000
(10km=2FA| kmE)
Tait 0|SE(Q=21SS) 13] 15,000
7|E
Ay (2%t Alo]) 14 5,000
=#l0f 400m| 3,500
w701 500ml 4,000
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